

II

	$\{0,1,2\} \frac{3}{6}$	$\{1,2\} \frac{2}{6}$	$\{3\} \frac{1}{6}$
$\{0,1\} \frac{2}{5}$	$\{0,1\} \frac{6}{30}$	$\{1\} \frac{4}{30}$	$\emptyset \frac{2}{30}$
$\{0,2\} \frac{2}{5}$	$\{0,2\} \frac{6}{30}$	$\{2\} \frac{4}{30}$	$\emptyset \frac{2}{30}$
$\{3\} \frac{1}{5}$	$\emptyset \frac{3}{30}$	$\emptyset \frac{2}{30}$	$\{3\} \frac{1}{30}$

- $w(\{1\}) = \frac{4}{30}$
- $w(\{2\}) = \frac{4}{30}$
- $w(\{3\}) = \frac{1}{30}$
- $w(\{0,1\}) = \frac{6}{30}$
- $w(\{0,2\}) = \frac{6}{30}$
- $w(\{\emptyset\}) = \frac{2}{30} + \frac{2}{30} + \frac{2}{30} + \frac{3}{30} = \frac{9}{30} = K$

: 1 - K

$1 - \frac{9}{30} = \frac{21}{30}$

po normalizaciji

- $w(\{1\}) = \frac{4}{21}$
- $w(\{2\}) = \frac{4}{21}$
- $w(\{3\}) = \frac{1}{21}$
- $w(\{0,1\}) = \frac{6}{21}$
- $w(\{0,2\}) = \frac{6}{21}$

$\sum w(\{x\}) = 1$

$\frac{4}{21} + \frac{4}{21} + \frac{1}{21} + \frac{6}{21} + \frac{6}{21} = \frac{21}{21} = 1$

jesli vs  
izadne  
to ne  
more  
jest OK

up. Bel  $(\{2,3\}) = \frac{4}{21} + \frac{1}{21} = \frac{5}{21}$   
 PR  $(\{2,3\}) = \frac{4}{21} + \frac{1}{21} + \frac{6}{21} = \frac{11}{21}$